


 

  

 

  

  

 

 

 

 

  

  

  

 

 

 

 

 

  

 

 

  

 

 

 

 

 

 

 

  

  

 

 





 



 

 



- 

- 



𝑙𝑝 = 𝑤𝐿 − 𝑤𝑝

𝑙𝑐 =
𝑤𝐿 − 𝑤

𝑙𝑝



 





ℎ𝑣 = 𝐹 − ∑(ℎ𝑗 ∗ 𝑓𝑗)



- 

- 

 
 



 

 

 

 

 

 



𝑣í𝑧𝑠𝑧𝑖𝑛𝑡𝑣á𝑙𝑡𝑜𝑧á𝑠

𝑠𝑧𝑖𝑣á𝑟𝑔á𝑠𝑖 𝑖𝑑ő
=

Ʃ15,5

Ʃ31
= 0,5

Ʃ: Ʃ: 



 

- 

- 

- 



˃



 





 



 

 

 







- 

- 

- 

- 

- 

- 

- 

- 

- 

- 

𝐷15 𝑠𝑧ű𝑟ő

𝑑85 𝑘ö𝑟𝑛𝑦𝑒𝑧ő 𝑡𝑎𝑙𝑎𝑗
< 4 <

𝐷15 𝑠𝑧ű𝑟ő

𝑑15 𝑘ö𝑟𝑛𝑦𝑒𝑧ő 𝑡𝑎𝑙𝑎𝑗



- 

- 

- 

- 

𝐿𝐴 =
𝑆 − 𝑆𝑘

𝑆
× 100 (%)



- 

𝐷 =
400

𝐾

˂

˂ ˂

˂ ˂

˂ ˂

˂ ˂

˂

- 

- 
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http://www.infociments.fr/publications/route/collection-technique-cimbeton/ct-t50
http://www.infociments.fr/publications/route/collection-technique-cimbeton/ct-t50
https://bismarck.nyme.hu/fileadmin/dokumentumok/emk/efelt/efelt/segedletek/melyepites/Talajmechanika_20014.pdf
https://bismarck.nyme.hu/fileadmin/dokumentumok/emk/efelt/efelt/segedletek/melyepites/Talajmechanika_20014.pdf

